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Computer Science and Applications

PAPER II

Let G be a simple undirected planar graph on 10 vertices with 15 edges. If G is a connected graph, then the number of bounded faces in any embedding of G on
planeisequalto .
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It is observed that 50% of mails are spam. There is a software that filters spam mail before reaching the inbox. Its accuracy for detecting a spam mail is 99%
and chances of tagging a non-spam mail as spam mail is 5%. If a certain mail is tagged as spam find the probability that it is not a spam mail.

50% 245 F V&6 6NVGLILD 6T6dTmI &6v0T LM WILILIL (B 66!, @)60TLITE: M6 3i6ML6USME (LDEITL] eVELID 3IEhFemev a8 L (hLDh
625 QILDETELIMBET 2_6T6em&l. 6VGLILD 3jEHFenevss &6uoTLMaUg M & MeT SIVESWILD 99% 94L& Lh. GLoswD 6hELID {6V6VTSH
3JEHFM6L GVGLILD BjEHFIMTEH GMIHGLD UITUILIL] 5% UGLD. 0 SOILILILL 3jEh&F6) 6GLILD 6T6rTd: GMI&HEHLILILLT6V, Sl
6VGLILD IEHFELITS G)6V6VITS [B&LDS & E06US & 6oL NIy LD.

A: 5/104
5/104
B: 3/108
3/108
C: 5/106
5/106
D: 5/48
5/48

If R and S are relatives from A to B, then which of the following statements are
false?

(i) IfR<S,thenS'<R’!

(ii) IfR<S thenS<R

R wmmib S yélwensu A ulled(mbg) B &5

@ enLulN6VTsnT 2 M6 6T ETETMITE, LIl63T6L (THLD
Famm|&6rlsh 6T HeummsnTg)

(i) HR<S, erafad St < R™?

(i) IfR < S, erafad S < R

|

A (ii) only
(i) LD
B: both (i) and (ii)
(i) & (ii) @TeOOTBILD

C: neither (i) nor (ii)

(i), (i) @uetor(ILD G6vemev
D: (i) only

(i) LLGID

A fair six sided die is tossed three times and the resulting sequence of numbers is recorded. What is the probability of the event E that either all three numbers
are equal or none of themis a4 ?




625 BIWITWLOTEOT QLM LSS LIGEL 3 (penm Srevorlq Tl (B, 2G0T eflemereunss eupLd euflend eTetor& 6T LIGe)
QFEWIWLILIHGGTMET. @S 6TE0oT&H6T FLOLDMTS G (HSED 2]6V6VS 3IaIMMI6) R60TMI 4 91,5 G)6VEM6V ETETMITEV B1&HLL6) E @) 60T
Bl &LD & 86 6T6OTE0T ?

A: 712

73

07
B: 1311216
131
216

C: 273

2

3

D: 17126

A meeting has 12 employees. Given that 8 of the employees are women, find the probability that all the employees are women ?

R Fnl LGP 12 2enfluifaser 2 eitemeory. 2ami g erflel 8§ GLITH6T QLIGTIT 6T60TLIGTEV 2{6M60Td Sl 26m A UIF& @BLD
QUUIGTOTGHEITITE @) ([HLILIG & M60T [B]&LD &8 6m 618 & 6uorLMle]LD.

A: 11723
11/23
B: 12/35
12/35
C: 29
2/9
D: 18
1/8

Slack variables are always .
6NV6LITEs LM &6 ETETLISI 6TLIQLIM(LDSILD

A Positive
GIBIJLO6m MWITEOTS
B: Non-negative
THFDENM LTSS
C: Zero
L RglwLnmersl
D: Negative
GTH T D6 MLITEOTSI

How many three-digit integers are divisible by 5 ?
615 & 60)60T CLOGITMI @)6VE S (LA(LD 6TEO0TSHET 534,60 UGS LI(BILD ?

A: 179
179
B: 180
180
C: 182
182
D: 181
181
When multiple critical paths exist, with same expected values, the is used for probability estimates.

@G LIHFlWmer TR FUMTEHSLILBID LS LIS EBLE60T L6V TMIFBlene) LIMenS&H6T @) (5o E&GLDCUTS!, Bl&HLh&H56)
LHUTOHEBE G LweTURSSILGHmS!
A': Largest mean

Wasuauiflw gymaif

B: Smallest mean




WaFAmw sy
C: Largest variance

Wasuauiflw wrm)
D : smallest variance

WesFAMw wrm

Maximize z = 3x; - 2X; subject to x| +Xp < 1, 2x] +2X5 > 4, X1, X5 > 0.

SO LUUTH 86T
Xp+ X, < 1,2X; +2X, >4 X, X520 2 L 60T Z=3X - 2X,8 e S LILG S Se)LD.

Az =1
Zmax=1

B: zp=2
Zmax=2

C: No solution
Biey @eveney
D : unbounded solution

aIybLleveuns Sie]

The basic step for processing the statement 1 + n < 2" by the method of mathematical induction is

6001 & SMET0TL6V (LDEMM ELNGVLD 1 + 0% < 2"Gn MMM Q& WI6VTE G 6USMHETET Iq.LILIML Lilg

A: 1
1
B: 0
0
C: 5
5

D: either 1 or 0

1 36LEVGI 0

Choose the options pertaining to CISC characteristics :

(1) Fixed length Instruction format

(2) Variable length Instruction format

(3) Relatively few addressing modes

(4) Large Variety of addressing modes.

CISC AUILNWeVL-6@ QSTLTLaTemeumenm CHIHO S M)

1. BlemeuWmeoT BT Q&FWEVLNENM 56160 allgenLnliL]

2. Blemevwmm Ber QFW6VLN6nMm SH6U60 aUlgenLLIL]

3. @UILNBemaswle 10& Flev Waalfl CFF&H 608 56T 608 WITEHLD (LN & 6T

4. 919566 LIGaIMI 616M&WIT6T (LN6ISN] CFIT&H 68 86T 6 WITEHLD (LDEmM &5 6T

A: (2)and (3)

(2) LHOILD (3)
B: (2)and (4)

(2) O DILD (4)
C: (1)and (3)

(1) LoHAYLD (3)
D: (1)and (4)

(1) LOIYLD (4)

With 4 - bit 2's complement arithmetic, which of the following additions will result in overflow ?
(i) 1100 + 0100

(ii) 1100 + 1111

(iii) 0101 + 0100

(iv) 1010 + 1100

4-@\(BLD @)6VE:85LD 2-60T BITLILY 6T6v0T 560011556 B8 QG MeuoT(h), BLOESHEWTL 6THS5E Fnl L6y, lens BIFLIeN sy (Overflow)

@Iguih ?

(@) 1100 + 0100

(i) 1100 + 1111

(iii) 0101 + 0100
(iv) 1010 + 1100

A (i) and (ii)

(i) LHDILD (i)
B: (iii) and (iv)

(iii) LOMAILD (iv)




C: (i), (iii) and (iv)
(if), (iii) LOHDLD (iv)

D: All of them
G MH TN 6M6TS SN

It Contains the address of the next instruction - pair to be fetched from memory.
Blen 60161 & S H 60 (HIH S Q& TevoT(H) 6U(BLOLILGWITET OGS &L _Lemer Cmiq&erler waeurflenw G1&meoorLq.(BHLILIS).

A AR (Address Register)
AR (W &eurf] LS LILImeT)
B: XR (Index Register)
XR (&L 19 LIS ILIT6T)
C: PC (Program Counter)
PC (&L_L6m6T BlJFeLG6TLD)
D: AC (Accumulator)
AC (BT (H&6TLD)
How many 128 x 8 bits bit RAM's are required to design 32K x 32bit RAM ?
32K x 32 bit (G (BLD @)6vV&:&1D) RAM aulgeuemn LIS G 6785 S5m0 128 x 8 bits RAM GG emaul LGB m &I ?

A: 512
512
B: 1024
1024
C: 128
128
D: 32
32

Which protocol does not use characters in its control field and is independent of any particular code in serial Communication ?

6TH & QBMILPENM BT S GILILTL (D LIeVSH 6L TS S Gm6TLl LIWaTLMG SSaS InHmID QSTLT S&H6160 Q&ML L &6rfle)
1585 GOILLILCL @GMIufL 1969 BHSID SWTHeTONS: 2 6T6ms! ?

A: Character - Oriented Protocol
WSS FMIHS QBB
B : Snoppy - Protocol
svardl Qpmlpenm
C: EBCDIC - Protocol
EBCDIC QB (Lnemm
D: Bit- Oriented Protocol

WL emiBs QBolnem

A specialized I/O processor takes over control of an I/O operation to move a large block of data is :
R HellHSeTemnnalmilbs /0 ellensl1QuTy e@® Quflw /0 76| QSTGLIenL BHISSIMSNE &L GILILITL ML &60Td G 6T
T0 5816 Q&ETTHEMSI. SIS

A: programmed I/O
Blyeum&és Q&g 1/0

B: interrupt driven I/O
GM&EHH Q&g 1/0

C: DMA
DMA

D: IPC
IPC

What type of Computer Instruction does "Increment Accumulator” belong to ?

"LIQenmCWmm L (H&6euID" (Increment Accumulator) 676166085 &5600T160f] 6M&WITEBLD (LNEDMENUIEF FMTTHES! ?

A: Memory Reference

Bleneorauds GSMILILTH

B: Register Reference

U Ca(® &MILILTH

C: Input Reference

2 6refl® MG
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D : Output Reference
Qauefluf B &MIILILTH

is called Data Selector.

F76] CaIail eTer AMLPESHLILGRMSI.

A Encoder
SHWMER
B: De Multiplexer
LedTLALILN (De Multiplexer)
C: Decoder
Gnlallevsa
D : Multiplexer
LIGOTemLO WM& G (Multiplexer)

In Flynn's classification, which parallel processing type is rarely used in practical systems ?
&L N6rfl6iT-60T QU S LILIML 1960 6TIHS @) 60)600T WLITE Q&FUWIVTES alemnd SflgMe: LwWaTUhSSLILGRmS 2

A: SISD
GTEIVEZ6TEMLG
B: SIMD
eTenE6TLDLY
C: MISD
6TLDEY 6TV
D: MIMD
eTLhEgeTLNL

Which of the following is correctly paired ?
FELDEIHEUGTAIMMIET eTemeal FIflWMEG QUTHSSLILIL (B 6Termeor ?

A Micro Operations - Register transfer language
T5I600T QEFWIEVWR6mM - LIGCaummi Lommmi Quomd
B : Binary Code - Assembly language
anuerfl &IUI® - o1& berfl Quomgl
C: Program Instructions with English words - Machine language
BTV 6uSl (LD M 6T - B BITN6V GUTTE MG G EBL6T - @WHH T Qomy
D: Symbolic (Mnemonic) Code - High level language

ST G &MIUIG(Blemeorayl Lev) - 2 wiFnl L Qom

Determine what's true for x, if we define int *x[10] ?
BITLD int *x[10]-83 6UEMTLIENM QFUISHTEV, x-&@& 615! FIl LTS 6T6oTml ST LOMeo 1886 LD.

A This definition will only allocate 10 pointers but will not initialize them

@S auenwenm, 10 LieTeflgemear LG @&I&HHH Q& UIW|LD, QLETTE, S{MEUHEBHEE R Sl6UGHEID Q&HTH &EHTS
B : The initialization must be explicitly performed

SleUG &L QeuefllILmLWINS B&HDSSLILL Caueor(b
C: The definition will only allocate 10 pointers but will not initialize them. Also, the initialization has to be explicitly performed

@bS eenTwenm, 10 LiaTef&emneT DL (G RSIHSHGH QFUIWILD, SLeTTeV, (B SlaU&HEHID Q&EMTHHETS; GOSN, &laI&EHID
Q&ETEHLILS QaleflliLeaLwms BlepsSLLL Galeor(h L.

D: Error
Hemip

Which of the following polygon clipping algorithm can be used to clip a filled area ?
@@ BITLULUL L UGHemw s Rerflll QFulw, BLpsaeurL 6Th& e LGS mevor Rerflliliimk ojeusmiflgn LweTUG &SI 2

A Sutherland Hodgman Clipping Algorithm
FHTGevetTL. ammL_ G060 GHerfllin 9jeuas Mg
B: Weiler Atherton Clipping Algorithm
Qaullevy gs L Ler HeflINm oevasriflgin
C: Vatti Clipping Algorithm
Il e (umLl.1q) Beflim sevsmiflgin
D: Greiner Hormann Clipping Algorithm
FRNQTUIeTT @mmIELeT RarflliNn 9jeuasmiflgin
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Which of the following statements contains an error ?
GCL sHmevorLILI(BID 6THS S Famiserfley Llenip 2 eeral 2

A: Select * from stu where stuid = 897,
Select * from stu where stuid = 897;
B: Select stuid from stu where stuid = 9786;
Select stuid from stu where stuid = 9786;
C: Select stuid from stu;
Select stuid from stu;
D: Select stu where stuid = 786 and lastname = 'XYZ';
Select stu where stuid = 786 and lastname = 'XYZ';

The Cartesian slope intercept equation for a straight line is
@@ CHIGHCHMLIY6T, HTFLICR 6T Fmile] @@I_LDQS]LII_]E FLoeTum® GLD.
A: Yk+l = Yk +M

Y1 =Ykt m

B: Yk+1:Yk'M

Y1 7Yk~ M
C: Y=Mx-b
y=Mx-b
D: y=Mx+b
y=M.x+b

In bitwise operator, each right shift operator divides by

AL eurrfluimest QEWMLITL LY 6D (Bitwise operator)@&l@mrr(nj QUEVSI 5&T6 Q& WIeSULD (right shift operator), udleormeb
df& g

A: 1l

@]
e L

Which among the following best describes polymorphism ?
BELpG& s eLaimnilev 61zl 'LmelinmisLilev'sansgd Fiflwuns elleufléaRma ?

A': Itis the ability for many messages/data to be processed in one way

L6V QF LIS &HmETULD, HT6|&Hem6T LD (data), CT (WemmUilel QFWIMTEHESLD QF UL H&S.
B : Itis the ability for a message/data to be processed in only 1 form

@@ QF WG WD, STenell]h (data), RCT LNemMUIEL QFWEMEHESHID QFUIWWD &S,
C: Itis the ability for a message/data to be processed in more than one form

R QFWHemWwU|bd, HFemeuuLd (data), LIV (PedM&6Tle QFWMHSD QF LWL $&S5.
D: Itis the ability for undefined message/data to be processed in at least one way

@ QUMTIWMIGSLILLTS QF LIS MWCWIT /STenauGUIT, e (Wenmuilleumalg Q&FWLem&sID QFUIWLLD §&S).
The allows us to identify a point in a transaction and selectively roll back operations carried out after this point.
ufleirssemeruley e@h LieTerflemul &{emLWITerTLd &600T(h), SleveWInTE: SibSLI LeTefla@Ll LIm@ 2 drer 'CrmeuGLIS
2 LICTag6TeN' QFWeLIB6USNHE FLHEHMSI.
A': mid point

I Liruflesor
B: Save point

G&eu Limullesor_

C: Commit
S
D: Save
G&el
The normal form is based on the concept of transitive dependency.

FMSTIE00T QU6 '1q [TTeaTerdliq.6) 19.Q LI6TL63Terd)' 6T6TM & (HHENS I LILIE L UIMTEHS C&TeooTL S,
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A second

@) [J600TL_T6US!
B: first
Wrseumelsl
C: fourth
[BTEOTE: M6 Sl
D: third
AT TSI
In Switch-case, the is not allowed to be case labels.
el & Gagmendley! APES WS MTHETTS (Case labels)@)(H&H S RL1LIGH6) @)6V6M6V.
A int
int
B: float
float
C: double
double
D: string
string
In C++, functions are not actually called, rather, their codes are expanded

C++-Ud6L QFWLTHIGET 6TLIGLIMSILD Semips s LILG UG evemev, DTMTES, Mt Gmlufhiaer allifleume g LiL{ & ermeor.

A: friend
LIQ 60T L
B: virtual
QeUJES6aI6)
C: static
VGL L9 &
D: inline
(39) 60T60) 6V 60T
The technique involves reprocessing the day's transactions against the backup copy of the database or portion of the database being recovered.

BILLILD T60TLISI ST6) SaTSS60 &ML LTH Si60608l HT6S S6T5HH6r LG Hamw BLOLHLUUSHS a6 TTs

SleTen MU LIFl6lT5 560 60T&:emaT LDMIGF LGS G6UMS 2 6TeTL SR WIS,

A Store
&Heooflevf] GFLAILIL
B: run
QFWOLDH S SIS 60

C: compilation
QBTG SHH60
D: Restore/Rerun
1S Lemn/ln M QFWeLI(H &SI SH60

Choose the correct answer.
In memory management, page size is always, power of 2.

BlemeoTaud GLO6LITEtoTemNUT6L LIg& 3166 6TLIGLIMWD S 2607 H (B &&TEH @) (B GLD. Filwimer ellanLemnuwigd CHIe6] Q&Fis.

A Denpends on the H/W
H/W QUM & Sl
B : Translastion of a logical address into page number and page offset is easy.
el (Waalflemlll LIS S eTetor L0MMILD LIS & offset-85& LOMMHMIaISI eTerfl gl
C: Maintenance is easy
ugmoiliiy ererflg
D: Makes Addressing unit job easier.
wsaflaw QFWHLBHSSISm6 eeflgmsG&HmEl
Which of the given topology of distributed system has the higher degree of availability of tree structure network ?

6T S ellFeuev Sevoflenll QFWIWenmMUiey @ Lallwiedley DH & eTevoTeuol&6m & UNEVITET O] 6ULg.6u 616m6vL LN 6oTeoT6L
&L LemnlenLg Q& meoor(H6Temsl ?

A Partially connected network
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LGS @ eneuurliL] alemev SjemioLiL]

: Tree structured network

LDTJ GULY6) GUEDIEY | 6DILOLIL|
Star network

BLESTT 6160)6V {6mL0LIL]

: Ring network

QWL QGITLIT 6UED6V S 6MLOLIL]

In which of the situation, one-pass assembler is effective ?
BELDGHG60TL 6THS Blemeuuilev, one-pass assembler PAMLUILITS QFWOLGIEMSI?

A:

Handling forward references

(PETGETITE G &ML T&H 6T 60185 LITEMH 5560

. Less Secondary Storage

S EIMEUTET S16M6E00T [B]60I60TEU S LD
Small programs

AW QFWMHSLLemerT

. Large Secondary Storage

3|F\G F160)600T [B]6M60TEUGHLD

A web browser is a example of
6 ([H @) 6m60oT W 2_6uTel 6T6dTLIS 5G dHHSHEHTLLMTGLD.

A:

A single-threaded process
RO enip Bre) AFLLLHSSID e
Multithreaded process

LI6V @ 6L BNeL&6T QFWeLI(BHSSID (Lhemm

: Concurrent process

RCT FLWSH QUEIGSHD WM

: Multitasking

LieuLIeooll @ W& 8 (LNenm

Consider the following processes with CPU Burst time P1, P2, P3 arived at time 0.

What is the average waiting fime of these processes executed using FCFS algorithm.

Process CPU Burst Time (MS)
P1 24
P2 3
P3 3

BpsseurTL CPU semflesflufler smow Glewm LG Sluilest erhs
QFwsHenmWTEsT) Py, Py, Py &Myeuwrid 0 6T60r @556V FIMHSHEl.
FCFS ulg (penms SFeysenst rmeifl &THS)(HLIL STeVlDd SevoTe: (b ereoTes 2

QlFwsvHpenm CPU wewfl iBlenm smsuid (MS)
P, 24
P, 3
P 3

In distributed system each processor has its own .
LTaIeTSHSLILL L SemoLILN60 @aIQeUT[H Q&F WD 9HeT QFTHS

A:

Local Memory

2 _6iTeehIj Blemeraussin

85 Q& T6uoT (D GTEMG.
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B: Clock
&HIQ.& TN
C: Peripheral devices
LM& & T8 60T Mg 6T
D: Local Memory & Clock
2 _6TeeBIj [Blemeurals L DMHMILD &IQ ST
The expansion of CAP is .
CAP eTedTLIG 60T el fleumd a1 G LD.
A Consistency, Availability, partition tolerance
Ble06u & HeTemLD, B & GLD HeTemln, LIS Ta| SRS S60Tenin
B : Consistence, Availability, performance
Ble016V 5 HETemLD, B0 &G LD HeTemin, QIFUIGY Hmesr
C: Computer, Automated processing
Geooflevf), Heotenl WG HEF QFULIEVTESLD
D: Consistency, Atomicity, process
[B160)60 5 S EOTE0LD, 3|01 S5 60T60)L0(&H 6 S5 S 6T S 6MLDLIL|S56MT), QI &F WLI6LLHEm M

Degree of multiprogramming is controlled by

LI LI BT THR TS MBS 60T 36mey epeuld SLOLUGSSILQSH DS

A: Short term scheduler

GOHW STeL QFWWmMm S LLAL 6V
B: Multi processor

QF WM& &L
C: Long term scheduler

BeooTL & mev QEFWeLWemm HILLLAL_6L
D: CPU scheduler

CPU L 1AL6v

Assertion(A):Rubber necking might be called non generative pattern
Reason(R): Non generative pattern describes a content and a problem but it does not provide any clear cut solution.

Fami (A) : FLILT QBE&EERMBINS 2 (HeUTSHS (LNIGWITSE (LHEDM 6T60TMI 2|6MLN&SHEVITLD
&ITeooTld (R) : TLILIT QB&SGEIMI GLIL L [J6T 2 6TemL_&& D Inmmild FésHemnev ellauflGR M. aL6Tme 218 QgerflalmeTr Gianeal
6TEM S LD GULDMHIG TSI,

A: (A)is true but (R) is false
A GTEUTLISI 2_600T6DILD L60TIT6V R SHeumi
B: Both (A) & (R) are true; and (R) is the correct explanation of (A)
A & R @evor(hllh 2_evoTemLn; LDMMILD R 6T6TLIGI A @) 60T &Fiflwiment eleng: &1
C: (A)is false (R) is true
@\ Tevor(HILD A 6T60TLISI &6 M1 SLE0TITEV R 2_600T60IL0
D: Both (A) & (R) are true; but (R) is not the correct explanation of (A)
@\ TeooT(HILD A & R 6TEOTLIGI 2_600T60L0; 24,601 T6V R 6TedTLIGI A @601 &iflWiment elemé:asLh 2606V 6T6dT LIS &l

Which encompasses a set of activities that leads to mathematical specification of computer software ?

618 & 6v0fl el QLOETQLIT[H 66T SHemo1H8 GSMILILIL(H\& S miausH&Ter QFWDHUTH &6 QSTSLIenLS GMe&Rarma! ?

A': Formal methods
Frflwmer (Wemmas 6T
B: Process methods
QFWITEHS (LLEDMSHET
C: Product methods
QUITIHET (LDE®M & 6T
D: Linear methods
FITer (e & 6T

Dynamic Systems Development Method is an
L erdlg Gl D6 GIL6UEVLIGQILDETITL. (LM 6T60TLIG

A: Agile software development approach
9|6MEZ6V GILDESTGLIMH 6T GLOLITL () 260G (LD6mM

B : Prescriptive software development approach
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uflbaienTeHa LU L QLETQLMHET GLWLUTL (h 2 &miE&(Lenm
C: Formal software development approach

(LPEDMWITET QLOGTELIMHET GLOUTL () 2 600IE&(LN6m M
D: Evolutionary software development approach

UleworTo QOETQLITHET GO LML () 26531 E5 (LD 6 M

Pipe-and-filter pattern follows which design architecture ?
UL LDMHMID &LN6VL 16T euemTLILLD 6T 2 (BeuenloliL] &L Lenn L6 aulgeueninlienl LNerUmmSme 2

A Object oriented architecture
QUIMTIHET FMFHS &L LemLnLIL]
B : Data flow architecture
576 L|P&HSHLD HLLemLOLIL|
C: Call and Return architecture
SenpliL LMHMID SHLIDLSE &L LeninliL]
D: Layered architecture
OGS HLLenLnLIL|
Which method can be applied to problems in which the input domain is relatively small but too large to accommodate exhaustive testing ?
2 aTefl(® Yeuid eILT Lemaileh Al wiG T @ (BHES T, (L(LDEDLOWITET CF TS M6TH S @)L 066 (DIQWITS 36765 E
QU lWSTE QHEGID FEHLHEREHSG 6THS (LMWL LIWGTLG ST 2
A Equivalence Partitioning
FLOLOMeT LG Tey
B: Orthogonal array testing
U THCHTEHT allfleng C& Mg emeor
C: Graph- Based Testing
QUM TLIL 31 LIt LU evmeor G& M6 60T
D : Boundary Value Analysis
eTeLemeL LOHIL| LG LILmUe]

In estimation for software projects , A, B, C are empirically derived constants , 'E is effort in person- months and e, is the estimation variable. What is the form
for overall structure of Estimation models ?

QLOETALITHET B LMIHEHHS HLILIHS656v A, B, C 6T60T LIS {EILIGSTTTHETTEV e WLILIL L [Ble06u&H6rT, E eTedrLIS!
ueoof Iy flw WO Q&FWIWLD LOMSMHISET LMHMILD e, eTedTLIG LHLILTE o). G UILTE rLsvserfler Qngs ojemoLliLler
QULQ.GILD 6TEdTEDT ?
At E=A+B+(e,)°
E=A+B+(e,)°
B E=AxB+(e)"
E=AxB+(e,)°
C: E=AxBx(e)°
E=AxBx(e,)°
D: E=A+Bx(e)
E=A+Bx(e,)°

In software Engineering , Separation of concern is a .
QueTaum@er Qummlulwedley, sealemevenwils LNFILISI eT6dTLIS

A Requirement concept
Bemel H(HSH S

B: Implementation concept
QEFWOLILGSH6 H(HSHII

C: Testing concept
CFMH M6 &(H& S

D : Design concept

QeI HIHSHS

The software design can be developed linearly for .
QLOETELIT(HET 6ULL6UEMLOLIGTILI CHIG&HITLIQ6V 2 (HeUMTES (LG U]LD.

A': Hybrid systems
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SeulILleoT ojemLnLiL| G 6T
B: complex systems

F &5 6VITET S|6MLOLIL| 6T
C: Bigger systems

QuUIlw eI &6
D: Smaller systems

Al oemnliL&6T

is the single attribute of software that allows a program to be intellectually manageable.
6TEOT LIS QLOGSTG LI 6160 6pMemm LIGuoTL] & 8m M 211D, @) &I (H BlTene e, Tallnns Blieu& &o
SIDHEHDSI.

A Abstraction
G (HSHSHLD
B: Separation of concerns
Wbg uryuug
C: Modularity
QBTEGS el
D : Patterns

611 6) MBI & 6T

Which one is not a requirements of QFD (Quality Function Deployment ) ?
@56V 618 QFD@) 60T BH6MAUGHET 2{6V6V ? (Quality Junction Development)

A': Normal Requirements
FMSTIetor G5 606156 T

B: expected Requirements
TRTUTTSSLILGILD C&HetI6U8s6T

C: Validating Requirements
GamalsemerT Fiflumyliug

D : Exciting Requirements

2 _MFMHLOMET G& 606U 6T

Single array a[0 : MAXSIZE - 1] is used to implement two stacks. The two stacks grow from apposite ends of the array. Variables top 1 and top 2 (top 1< top2)
point to the location of the topmost element in each of the stacks if the space is to be used efficiently,

The condition for "stack full" is .

@ T6oT(h DG GHDTE QF WSS menm 2enl] auflens a0 : MAXSIZE-1] LWeTUG S5 LILGR mS!. §) T6uor(h
3(H&GSHEBLD auflenauller eTH F(enarserfled (B eueTBLD. LM &ET (Variables) topl LOMHMILD top 2 L& W6 QLSS5

F e WTSHL LIWTLBG S5 Caletor(hLOMeTTel, elQ el 2(h &G &6l 2 6Tar g 2 Wibhs &eoflng S eor
AGUULSmSEH GNl&s&sa]0n.

"9\ &G (stack) BIFLDLN U 6TMTE" 6T60T LIS M & 60T [B)LIH S5 60)60T

A: Topl =MAXSIZE -1
GV 1 = SIBSBLILF 2_([HeuerTe - 1
B: Top2=MAXZSIZE - 1
GLO6L 2 = SIFGHLILF 2 (HeUeTa) - |
C: Top 2+ Top 1 = MAXSIZE - 1
GLO6L 2 + GGV | = SIFH&HLILF 2_(HeU6Tey - 1
D: Top2-Topl=1

Gev2-Gev 1 =1

What is the output of the following code ?

my recursive<-_function(n)

H

if(n == 0)

return

print(n)

my_recursive(n-1);

H

my_recursive_function(10)

FEC Q&ETOSHSELILLG6Ter GMIUT g6 QeuefluT® eredreor 2

my_recursive< -_function (n)

{

if(n ==0)

return

print(n)
my_recursive(n-1);

my_recursive_function(10)
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10
B: 1
1
C: 1098...1
1098...1
D: 1098...10
1098...10

What is the Inorder Predecessor of 8 in following BST.

G 6L s mevor LI BST-ulledr 6r60r 8-60T auiflemn & LILIHSSLILIL TS (TGN (Inorder Predecessor) 6T60T60T 2

&CLp ssmevorLiL(hlib BST-uSleor etenor 8-601 suflemaiLi(hlgeluLns (psiTGeormiy (Inorder Predecessor) ererent ?

.-
e

A: 10
10
B: 7
7
C: 13
13
D: 14
14

The worst case running time to search for an element in a balanced binary search tree with n2" elements is
n2" 2_MILIL|&6T 2 616, FLnBlenev @ (BL0S (binary) CHL6V LDTSHH 60T @@ 2 MILIenLIS (Bg@sug,ma;rrafr GLTFLOMeT Blemevuuilev
@ WmkIGLD GHILD

A: O(n)
O (n)
B: O (nlogn)
® (nlogn)
C: ©(n2n)
® (n2n)
D: O (logn)
O (log n)
The depth first search will use as a structure to held nodes for further processing.

SLLPLOMET (NG 6V B L6 (depth first search) GLOGILD QFWIGVITE: &G H MG TET (LNEDIEUTEHMETS GHL &L Lol ILImaLI
LweTUGSSeUs G L.

A Stack
'VBL&'

B: Queue
‘Suy'

C: LIST
"edleruL!

D: ARRAY
'2IG'

Covid (n)
{fa=1;

foriis 1ton)
{

if(i <=n/2)
{for (jis 1 to 1)
a=ati;

}




else{

a=a*i;

1

Running time of Covid(n) is
GsmailLl (n)
{a=1;

for(iis 1 ton

{

if(i<=n/2)
{for(jis 1 to i)
a=a+ti;

else {

a=a*i

By

Gamaill. @uIkIGLD GBI (n)

A O@m?)
om?)

B: O(n3)
o)

C: O(n)
O(n)

D: O(nlogn)
O(n log n)

Good design dictates that error conditions be anticipated and error-handling paths set up to reroute or clearly terminate processing when an error does occur.
This approach is called

F6V6V aUlg.elemLOLIL] LT6mLD Blem6euenLngs 6T eT& TLIMTa & LILL GaleuoT(hLD eTedrmi &L LememulBH&E ma! mHmIh LlenLp
JHUGWEUTS, QFWTESSMS DTHMILMINGES 3]606VS (DDA BlMIGSIaSHES , L1e0Ln em&WITEHLD LITen S8 6T
SN &GSE LILL(H6TET60T. @)\ 26001 @&(LenME G LI QLW

A: Bug

QETQLIMTHET LemLp (Bug)
B: Error

g eoofleof] LNemip

C: Debugging
Nemip B& D
D: Antibugging
Wenp 5GH&ESLD Lremm

Match the following :

(1) PUSH (a) STACK
(2) FIFO (b) Stack insertion
(3) POP (c) QUEUE
(4)  LFO (d)  Stack deletion

BlpssesTLeuMen ML ClUM(HS S8

(1) PUSH (a) -

(2) FIFO (b) 6VGLE @etTETgesT
(3] POP (c) &

(4) LIFO (d) 6vGLs GlLeSagesr

Az (DA(b), (2)-(),(3)-(d),(4)-(a)
(1)-(b), 2)-(¢), 3)~(d), (4)-(a)
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B: (1)-(a), (2)-(b),(3)-(c),(4)-(d)
(D-(@), (2)-(b), (3)-(c), (H)-(d)
C: (Dd), 2)-(c),(3)-(b)(4)-(a)
(D-(d), (2)-(0), (3)-(b), (4)-(a)
D: (1)-(c), (2)-(d),(3)-(a),(H)-(b)
(D-(¢), @)~(d), (3)-(a), (H)-(b)
The breadth first search will use a as a structure to hold nodes nor further processing.

S| G6VLDITET (LNFHV CHL6, 2, GLOAYILD QIF WIEVITE 8 GH) M &MU (LDED)60TS: 66T 60161 & H) (55, 62 (H
S LenbUUTsLLWeTUHSSID.

A: Queue

aflens (&)
B: Stack

HDES (6VCLE)
C: LIST

LI 19 ui6b (696ruL)
D: ARRAY

afleng (24Gr)

Match the following:

1. Divide and conguer (a) Dijkstra’s shortest path algorithm
2. Dynamic programming () Tic-tac-toe

3. Greedy Approach (e) Binary Search free

4. Back tracking (d) Control theory

! £61p QaTQEBLLL QeTmabaD QUNBASL.

(1) Wlga QeumHm) &mem)sHeo (@) gevLgmeiler WBlge] b

GnISIW LTens
V& MflGLD
(2) LTI BHIFEVTEESLD (b) l9&-GLE-GLT
(Dynamic Programming)|
(3) ‘&fly’ 26T (& (PO (c) enLieoTll FO& Lif
4) 6tTeumhi (8560 (d) sLEUUTLHE Carium()

(Back Tracking)

At 1-(c), 2-(d), 3-(a), 4-(b)
(D-(c), (2)-(d), (3)-(a), (4)-(b)
B: 1-(a), 2-(b), 3-(c), 4-(d)
(D-(a), 2)-(b), (3)-(c), (4)-(d)
C: 1+(b), 2-(d), 3-(a), 4-(c)
(D-(b), (2)~(d), (3)-(a), (H)-(c)
D: 1-(d), 2-(c), 3-(a), 4-(b)
(D-(d), (2)-(c), B)-(2), (4)-(b)

Consider the DFA given below

1 ] 0

— O}’/-‘\O}Q
1

Which of the regular expressions given below represents the above DFA ¢
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DFA UL &G Qam(hlessLuL (HsTersg).

&CLp Glamhlas ULl (heTsr stemeu DFA Fam|senst GlauerflLiLi(h &gl &letTmest ?

A (0+1)*00
(0+1)*00

B: (0+1)*0
(0+1)*0

C: (0+1)*
(0+1)*

D: (0+D)*00(0+1)*
(0+1)*00(0+1)*

Which of the following grammars is (are)ambiguous ?
(1)S — SS|aSb|bSale

(2) S — aSbS | bSaS |e

(3)S — aAB

A — bBb

B—Ale

BLPG:GH600TL FLOETUITL 196V eTemal Qg erflaummenal ?
1)S® SS |aSb | bSa | &

2) S® aSbS | bSaS | ¢

3)S® aAB

A ® bBb

B®A]|¢e

A: 2and 3 only
2 10MHMID 3 WL GIWD

B: 2only

2 (LD
C: 1,2and3

1,2 loMmmID 3
D: 1and3 only

1 LDHMILD 3

Consider the grammar,

G=S — abScB | e,

B—bB|b.

What is the language generated by the given grammar ?

@FFLATUTL ML HHSH Q&HT6TSH

G=S — abScB [¢

B —bB|b.

@) HedTeLN6VLD &600T LM UILD QILIMH6IT WTeme ?

At L(G)={(ab)"(cb)™ | n=m}
L(G) = {(ab)"(cb)™ | n = m)}
B: LG)={@"b)"(ch)™ [n ' m}
L(G) = (@ It
C: L(G)={(ab™ch)y™" n>0, m> 0}
L(G) = {(ab)" (cb™)™ | n >0, m > 0}
D: L(G)={(ab"(cb)™" n >0, m >0}
L(G) = {(ab)" (cb™)™ |n* 0, m* 0}

Given a Turing Machine, M to determine whether M ever moves its head to the left when started with input W is:

SO G a1l QFWeWemM SHHel M Seneulmargl 2 aTef(h W6y LTSS Te0 @)L SILGSED BHTHMST 6TeTLIS

A Decidable
FILMel&5H86 Gl gl
B: Un-decidable
FiLmefl&Hs @ uieums
C: Trivially decidable
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eTef1H6b QFWOLHSHL (LDLGU|LD
D: Can not be determined.

BlFeoorui &8 (LnLg WM

What is the final value of the postfix expression BCDAD -+ - +.
where A=2, B=3, C=4, D=5.

BCDAD -+-+ @&6v A=2, B=3, C=4, D=5 @ BH STV LNeTQeorTL_1q QauerflliLim®) - @mS G LIl eTeoTeor 2

A

Q
ST - NN N N NS SN

Consider the given grammar
S — Abc | ad

A—eS|Crl &

C — flplg

Compute FIRST (A)

FLDEGEITL FLOETLITL 0L Q& M6,
S — Abc | ad

A—eS|Cr &

C — fiple

FIRST (A) &600T8 R (H) & .

A: FIRST(A)={e,f,p,1,&}
FIRST (A) = {e, f,p,1, &}
B: FIRST (A)={a,b, & f,p,r}
FIRST (A) = {a, b, & f, p, 1 }
C: FIRST(A)={f,p,&}
FIRST (A)={£,p, &}
D: FIRST(A)={f ¢}
FIRST (A) = {f, &}
A problem that has the property that it can be solved in polynomial time if and only if all other NP-complete problems can also be solved in polynomial time.

MM eM6TH S NP - (LD (LDEDILDLITET 860018 (&8 @B LI MILIL&CHTen el CHISH 60 SIdaLILL LT L (HIG S
L6aumILILE Camemel CBHTSEH 60 GBI aLILL & 8nIQW LIGTen LIS 618 Te00TL 62(hH & 600T8s &.

A': NP-hard problem
NP &19.60TLOITEOT 8560015 &
B: NP-complete problem
NP (L0 (LD6DLO WIT6OT & 60018 (S
C: Deterministic problem
SrLoMef&@GLD &60rd: &
D: P-complete problem
P-(LD (LD 6MLOWIITEUT &5 600T8 (&
An nxn Matrix A whose elements are
{ay}, is said to be upper triangular if {a;;} = 0 whenever i > .

62(H n x n 360 1UN6D A 6TEDILD Fo MIGET { aij} GTEOTLIGH 60 60T GLOGV (LN& GG ITE00T 6119615 T ([(H& G LD aij=0 @) (H&HGSLDQUTD S
1> @G&HSHVITLD.

A: 1<ij<n
1<i,j<n
B: 1>i,j>n
1>i,j>n

C: 1>i,j>n
1>i,j=n
D: 1<i,j<n
I<ij<n
In which graph, semantic rules set up dependencies between attributes ?

FLDGHGEITL 6THS UeTLLSH6, Gnlellenss G &6T, FMTL&6T nMmmILD @ WimLievorL&erfler <jiq liLiemL_ulley
Bloeu LG & eTmeo ?
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Select the cost of given instruction
ADD 4(R1), * 8 (R2)

QEMHGSILL G 6TeT GUILIL&EBHE ADD 4(R)), *8 (Ry)

A:

Cyclic graph

&M euemFLLLD
Dependency graph

Sy elemyLLLD

Acyclic graph

FLPMHAUNET aUemTLIL LD

Oy SLLenLoLiL]

[OSEE VS I N N S I S}

1
1

. Tree structure

gL 6T&Hen6T HI6 InTHMI&H6T CHenal eTar CFIa QFUIs%

In symmetric key cryptography, if every person in a group of 12 people needs to communicate with every other person in the group, how many secret keys are
required ?
FFET elleng GMlwms sl wedlev, (Symmetric key crytography) 12 GLIT Q& MeooTL & 6N6L 2 66T 626G QUM HLIHLD & W edlev
2 66T REIQGUMT(H BLBL D QSTLFTL| Q& T6Ter GauesoT(hILD 6T6TMITEY, 6785566 THE W 6l6nF&6T (secret keys) CHemI6U ?

A:

54
54
66
66
64
64

: 56

56

In a RSA cryptosystem, a participant A uses two prime numbers p = 13 and q =17 to generate his public and private keys. If the public key of a is 41, then the
private key of Ais
(B RSA B FIICLTH6VL LD FI6TVL D6V (Crypto Systems) €(H LIGIGHMHLITEATT A H60TH QLTS Lnmmith SeoflliLl L efllem &g emer
(Public and Private Keys) 2 (H6uT&:& P=13 LoMHMILD q=17 Q& @ Te0oT(H) LIGT 6T600T&H6m6TLI (Prime Numbers) LIWLTLG S SIHMTH. A
@\6T QUTSI allen s 41 21,8 @ BHSMEL A G 6T HeoflLILL L eflend (Private Key)

A:

Match the following :
L.

il

85
85
87
87
89
89
88
88

CRC 8
CRC 10
CRC 16
ERE 32

o0 oo

HDLC

LANs

ATM AAL
ATM Header
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LSltTeu(HeuesTeumen ML CILIM(HE S5

(T} CTRES (a) HDLC

[2) CRCI10 (b) LANs

(3) CRCI16 (c) ATMAAL

(4) CRC32 (d) ATMHeader

A: 1-b,2-c, 3-d,4-a

(D-(b), (2)-(0), (3)-(d), (4)-(a)
B: 1-c,2-d,3-b,4-a

(D-(e), 2)~(d), 3)-(b), (4)-(a)
C: 1-d,2-c, 3-a,4-b

(1)-(d), (2)-(c), (3)-(a), (4)-(b)
D: 1-a,2-c,3-d, 4-b

(D-(@), 2)-(c), 3)-(d), (H)-(b)
Choose the correct match type.
A Timeout caused by a Post Packet may be caused by
1. Noise on a transmission line
2. Overflow of buffer

3. Packet discarded at a congested router
4. Due to fragmentation

FflwmerT alan&eml G HOSH&HA| D

[ QLB CLIG@SL_L eV (lost packet) FMLIL L 60L LD 6L ) SH60TMeV HLILL &I
1. 19T meTeruLll 69 65T em6venflev F& 510

2. @ WSHSH 6T aulhlgeL

3. QBlFeumer HenFalluledey (router) LITGHQSL BITTSHFlSSLILLL &I

4. BlevoTL_MTHIGH6V &ITI600TLOMS

A 1and4 are correct
1 LMD 4 Fiflwimers!
B: 2and4 are correct
2 IDMHmMID 4 Fiflwimersl
C: 2and 3 are correct
2 nmmId 3 Fflwmersl
D: 1 and 3 are correct
1 LommIb 3 Fflwmersl
The virtual path identifier is an bit field in a UNI cell and a bit in an NNI cell.

QUUWIBIGT LIMen S {60 WITemhIg ML LY (Virtual path identifier) 6TedTLIZI UNI &605 560 62(1H
HUEHO Gl

A: 12,8
12,8
B: 8 12
8, 12
C: 8,16
8,16
D: 16,8
16, 8
A TCP segment consist of a fixed byte header.
@ TCP LNflefléL Blemeuwimeor  emUL QamL_L [ (Byte Header) 2_6Temg!.
A: 24
24
B: 16
16
C: 20
20
D: 15
15

WL yeuold wHmID 6(H NNI
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Match the following:

Match correctly the cryptographic algorithm with their corresponding key-
length.

1. DES a. 128 — 256 bits
2. Rjindedal b. 1 — 448 bifs
3. RC4 c.  S6bifs

4. Blowfish d. 1 - 2048 bits
L9l6oT6U (THEUETTEUM DML ClLIM(THS S|

HALCLIE T8 3i6v8Tf15856m8 (Cryptographic algorithm)
Sieummlest ClasTLLsnLwWw edlen s HemsgIL et (Key-Length)

CluT®BSS6LD
(1) DES (@) 128-256 bits
(2) Riindeal (o)  1-448 bits
(3) RC4 (c) 56 bits

(4) NGemmiew (blow fish)  (d)  1-2048 bits

A: 1-d,2-b, 3-a,4-c
(1)-(d), (2)-(b), (3)-(a), (4)-(c)
B: 1-b,2-c,3-a,4-d
(1)-(b), (2)-(0), (3)-(a), (9)~(d)
C: l-c,2-a, 3-d,4-b
(D-(¢), (2)~(a), 3)-(d), (H)-(b)
D: 1-c,2-d,3-b,4-a
(1-(©), 2)-(d), 3)-(), (4)-(a)
The fundamental relationship between the speed of light (in vacuum)C, frequency f and wavelength 1 is given by .
eeflufler Caussd (QauMNILSH6V) C, HAHTQ U6 £ InMHMILD SjemeuBarTid | L& IeIMMISES @) 6mL GUILLITET S{1q.LILIenL
2-mey

A: c=4
c=1
B: c=/f
c=1If
C: C=1/f
c=uf
D: c=If
c=If

Match the following:
Match correctly the Attack and the Attacker Activity.

1. Social Engineering a. Prevent the legitimate user by
flooding
Denial of Service b. Exploits trust relationship
Dictionary Attack G Gathering Information
Spoofing d. Takes advantage of easy

passwords
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LlesTer (thev 6oTeL HED MLI ClLIMT(h S8 &
SILLTS LbMHMID SILLT&HST ClFwsiumienL GClum(msgea| b

(1) &epselumdilldluey ()  NETLIgesT ePsVLD (LPEo MUlTesT
LILIGBTEN T (LPEBTEmI6U 88 6L|LD

(2) G&emeu MILILY (b) DBLEEMSHE ClHTeBTL ClSTLIENLILI
LwesTLI(h &8 S m g

(3) SISBTTSH LTS (c) &oeusv Geasfluug)

(4)  eMOLLEIE (d) ereflgment &La FClFmsvedl6tT (Past

Words) Liessf] mesTemLo

A: l-a, 2-d, 3-b,4-c

(1)-(a), (2)~(d), (3)-(b), (4)-(c)
B: 1-a,2-d,3-c,4-b

(1)-(a), (2)~(d), (3)-(c), (4)-(b)
C: 1-c,2-d,3-b,4-a

(D)-(e), (2)~(d), 3)-(b), (4)-(a)
D: l-c,2-a,3-d, 4-b

(1)-(c), (2)~(a), (3)~(d), (4)-(b)

The OSI Network architecture is partitioned into layers.
OSI QBLQ6ITTE &L LenloLiL] B E&EGHeTTs Nfleasliul G erengl.
A: 4
4
B: 7
7
C: 5
5
D: 6
6

In state space search algorithms the initial state is typically denoted as S and the goal state as Sgq,). Which of the following represents the search problem ?
wrple efleoraeaieflEesL 6 aiflpnamaefley QLTIbL Bleney QLITSIAITS S;y( 6T60Ta|LD @6VE S BI6DU S, 6T60TAYLD
GSM&ESILORMSI. BLH& 5 600TLalMHMIGT Tenalsd CHHI1H60 FHHamE GMGERMS 2
A Finding a sequence of actions from Sy to Sy
Sinit LPB6V Sgoq EUIlEOE Q& WIS EMETS &5600TL 1160
B: Finding all possible states from S;;¢ to Sy,
Sinit POV Sgop FMSEWILDTEIT 6METE S [Bl60I60 S ENET LD
C: Finding the shortest path from Sy;¢ to Sgoa1
Sinit LAS6V Sy0p UENT GG LITENSEDUIS &600TL 118
D: Finding the optimal heuristic for S;,j; to Sgoq)

Sinit LPB6V Syop EUENTT 2 &6 afiflervig & sevorL g6y

Given two fuzzy sets A and B with membership functions
pA(x) = {0.6, 0.5, 0.1, 0.7, 0.8} uB(x)={0.9, 0.2, 0.6, 0.8, 0.5}
the value of n(AUB)'(x) will be ...

2 miliINery QFWOLMTH&EBL6T A L0MHMID B & W @ Tevor(h Qgeflaumm Q& TG LILI&6T QS MTE& &8I () 6Temer.
pA(X) = {0.6,0.5,0.1,0.7, 0.8} uB(X)={0.9,0.2,0.6,0.8, 0.5}
(A U B) (X) DRI &Heoord R (H 8.

A: {0.1,0.5,04,02,03}
{0.1,0.5,0.4,0.2, 0.3}
B: {0.1,0.5,04,0.2,0.2}
{0.1,0.5,0.4,0.2, 0.2}
C: {0.6,02,0.1,0.7,0.5}
{0.6,02,0.1,0.7, 0.5}
D: {0.9,0.5,0.6,0.8,0.8}
{0.9,0.5, 0.6, 0.8, 0.8}

Decryption of the ciphertext "Z" with the key pair (7, 2) in modulus 26 is
M GSMWITESLD "Z" G 60T @) 6m6uTss6iT (7, 2) CLmBHeven 26 S48 @@r_r;g,rrcu LDEMMULITE LD 6T5 5 6060T ?
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In the RSA public key cryptosystem, the private and public keys are (e, n) and (d, n) respectively, where n = p * q and p and q are large primes. Besides, n is
public and p and q are private. Let M be an integer such that o <M <n and f(n) = (p - 1)(q - 1). now consider the following equations.

I.M’=M®mod n

M= (M")9 mod n

II. ed =1 mod n

III. ed =1 mod f(n)

IV. M’ = M®mod f(n)

M = M)d mod

f(x) Which of the above equations correctly represent RSA cryptosystem ?

RSA QUME GMIWMES (Wemmuiley, Heofl LnHmIh QLTS eNem&FS&HET (e, n) LDMHMILD (d, n) WeHMECW LIWTUGSSLILILH), @HSTeV n
=p*q LOMOHMID p LMHMID q QUFIWL LIGIT 6T600TH6T 24,@GLD. GLOSILD n 6T60TLISI QLTSI LOMMILD p LOMHMILD q F6vtl eflemFWm@GLh. M
GTEOTLIG (LD (LD 6T600T - 94,8 E)(BIHSTEV, SILIGLIMSI 0 <M < n LOMMILD f(n) = (p-1) (¢-1) & QBHEHGD. BEGLD &FL06dTLIMH)L 6o
Q&EMTH &S LILL (heTereor.

L. M'=M°® mod n

M=M"4 mod n

II.ed=1 modn

III. ed = 1 mod f(n)

IV. M'=M® mod f(n)
M=(M")d mod f(n)
GGV G MW 6TET 6THG FLOETLM(H RSA GMWLMESSMSE S GSMGRMS 2

A: Tand Il

[ LDMHMILD I
B: TandIII

I LDHMILD TIT
C: ITand IV

II LnHMILD TV
D: Il and IV

I LM MILD TV

Let M be a message consisting of 50 AES blocks. Alice encrypts using CBC mode and transmits the resulting ciphertext to Bob. Due to a network error,
ciphertext block number 45 is corrupted during transmission. All other ciphertext blocks are transmitted and received correctly. Once Bob decrypts the received
ciphertext, number of plaintext blocks corrupted is .

M 6T6dTLIZI 50 AES Q& TS5 &6meTs: Q& TeorL (b QF WG WTH @) H&H L (HID. Alice CBC LIWLIGTLAmMen WL LIWeTUBRSSH M &8
GSMWMESID QFUIS 56T lleneTalTs al(BLh &FsLIT QL& Bob &@& AILILBMTT. QBLQ6UTTEH enp STFLnms,
MEFLFTOLGEVL. QBTG er6vor 45 LIFIIDTHNN6TCLIME FemSHSIETENG). (DMHM EMETHS OFSLT QLU QS TEGHH &EBHLD
Flwums 9ieiuliul® QuOLUILGSH ermeor. Bob QUMLILIL L en&sUT QL&evenl 196K Q&FUISeL T Flangbs ererlwl

2 T QF &S &6rfl6iT 6TevoT600r1856M 5

Al
1
B: 5
5
C: 2
2
D: 45
45

Match the type of attack and its prevention mechanism ;

1 Brute - Force Atftack - a. Change of keys

2 Statistical Attack - b. Number of possible keys are large

3 Pattern Attack - (€2 Hide the characteristics of the
language

4, Known — Plain Text Attack - d. Ciphertextis as random as

possible
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S8 (H 601607 sUsNSEMLILLILD Si&68T SHILLY @IWBEY HILLSNSWLD

Clum(H&8&:
(1)  WUL{l-usveumbgLomes (q) ellemgsener THDIGHE
B8 (HEH60
(2) Ysterl efleun Hmés 560 (b) &Enséhwimer
sflsm&gerflatr
ETEUBTEUBT| E:6ME 2 BHLDTE
2 6iTeTgy)
(3) Sl (pemp B&EGH0  (¢)  LlombluileT LestTsener
LDEMM 5 &H60
(4) b ersflw 2 eniy (d) GOuTEsLULL 2 a1
TG (petTenImIS)
AT SINTINTWTNTI, £ Y- v
2 _6iTeNgy)
A: 1-b,2-a,3-d,4-¢
(1-(b), (2)-(a), (3)~(d), (H-(c)
B: 1-b,2-¢,3-d,4-a
(1)-(b), 2)-(c), 3)~(d), (4)-(a)
C: 1-b,2-d,3-a,4-c¢
(1-(b), (2)-(d), 3)-(a), (H-(c)
D: 1-b,2-d,3-c,4-a
(1)-(0), 2)-(d), (3)-(c), (4)-(a)
Assertion [A] : i RaS (x,y) =min [ R (x:3); us (x,v)]
Reason [R] : “BUS (x,¥ ) =max [ R (x,v). ;ls (x,v)]
FaOml [Al hp gley)=miniug (xny) pglxy)l
smyesoro [R] hp,g®y)l=maxiuy (xy) pg(xyll

A [A]is true but [R] is false

A &1fl 9460160 R Soumi
B: Both [A] & [R] are true and [R] is correct for [A]

A, R @revor(hd &Fifl (nMmILD R 6T6dTLIS A&STeor Fiflulmeor elemg:&Lh 3j606v
C: [A]is false but [R] is true

A BaUmI S,60TM6eL R &if]
D: Both[A] and [R] are false

A, R @reoor(hILD SHeumy
Select one of the following process, which produces a non fuzzy control action that represents the possibility distribution of an inferred fuzzy Control action.
B 10858 600TLeUMMIET FBHEILD R(IH QFWEVTEHS (MM S CFHT6] QFLIS. Qgefleubm sL@LUUTLE Q& wedley
FRUMGLLECUTS!, Sieinmefl&asLliul L Qgefleurer sLGILILTLG Bl (nenm LITeUsIHE almiliL gHUuGHmS!.
A Fuzzification

W& LOWILDITEHEHED

B: Defuzzification

Qzeaflaumgasin
C: Inferencing

9| EDILDTEOTLO & & LD
D: Indexing

& L_QIL_600T 2|60 & FH6V

In a multilayer perceptron, an error signal originates at an output neuron of the network and propagates through the network.

L6 106G QUBH T 6ulld &MV, @ HeumiseTear GMIUIE G eneanrwssH e Qeusaflufl (b Blw,Tmefle 2 e
QISIWIMTS @)6e6TILSLD (RIS LITaLD.

A backward

LNetTGeoT e & Wi

B: forward
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(WDETCETTEHSR WL
C: upward

GLELBHTEH W
D: downward

GLOCHTEHSRIW

Which of the following is true about discrete hopfield network ?
(i) may be modified to a continuous model

(ii) can be used for associative memory problems

(iii) nodes of the network have a continuous graded output

(iv) energy of the network increases continuously with time

GamrLiLfeu () Hefl euemeveninliL] GMGE Q&TH&SLILLL alms&H wnisefle eemel Fiflwmeranal ?
) QsTL@GW wr&HFlwms mmhn) @) Wkigern

i) @emeorLiL] Blememeuss Ll LN TEFemneord@h& @& LIWeTLBSS (WDIGU|LD

iii) auemeuwl s GBMHG&6flev s Lflesliul L QsTLF Qelefluf®h srsS win

iv) QUEMEVILIS QFWELHMEIT BraTenLallel QSTLITFR TS AF&FERMS!.

A (i) and (iv) only
i DMMILD iv WL GHILD
B : (i) and (iii) only
i LnMMILD iii L HILD
C: (i) and (ii) only
i DML i L @D
D: (ii) and (iii) only
i LoD iii LOL(RILD
Which of the following statements are TRUE about MTU ?
(i) The Maximum Transmission Unit (MTU) for an IPV6 network must be atleast 1280 bytes.
(ii) IEEE 802.15.4 MTU is 1000 bytes

(iii) IEEE 802.15.4 MTU is 256 bytes
(iv) IEEE 802.15.4 MTU is 127 bytes

MTU Umnl LeTeupln oinfldsen & &6rfleL 6151 2_etoTenln ?

(i) 2B &ULF ulmHm 360G (MTU) IPV6 @60 60T SH M & GenmbSLLFLD 1280 emLIL(H&6T (Bytes) @) (H&8 Geletor(HLD.
(ii) TEEE 802.15.4 MTU 1000 6é0)LIL(H&6T 2_6m LW

(iii) IEEE 802.15.4 MTU 256 e®)LIL (D &6T 2_6mL_UWI S 2 6L WS

(iv) IEEE 802.15.4 MTU 127 émLL_ (D &H6T 2_6mL WIS

A (i) and (iii) only

(i) LM MILD (iii) DL (HILD
B: (i) and (ii) only

(i) LnMMILD (i) WL H)LD
C: (i) and (iv) only

(i) nMHMILD (iv) LD
D: (ii) and (iii) only

(i) DM MILD (iii) LD

Match the following :

(i)  Parallel computing (a) Group of computers and devices are linked
together to form a huge computer

(i)  Grid computing (b) All the different processors have access to
shared memory

(iiiy Cloud computing (c) Gets computational power just like electricity
through wall sockets

(iv) Cluster computing (d) Usesinternet and remote servers to maintain
data and applications
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QUTHSHSI5

() @emewrs sesfllih (a) sewleflast LHMID FrgerrisefleT
&2 @@ Quflw sewoflefl 2 (mHeurss
o _ RETONE @mm&i&a’;ﬂui@sﬁm@.
(i) BLLS sewflldfh (b) SiverTEz GleusuGoum)
ClEFW e &(ETHLD LSITULILL
5163165761 8 & &) M S TET 2{600)| 56M 605

Gl mevur (H\eTeTeuT.

(iii) &lsmayL semflll () (c) &G6ulT EMS6HL(HSET pPULD
Wetramyd CuTeL HemTsEL () F& 5
QuIS g

(iv) &lemeuLi sesslul() (d) S76y LOHMIL LWETUT([HS6m6T

ugmofl&s G)snemrilLd WmHm)Lb
Ggmemev Gaemeu G hIGHemeTL
LweTU{H &S&IH 6T &I

Az (D)-(b), (ii)-(c), (iiD)(d), (iv)-(a)
(B-(b), (ii)-(e), (iii)-(d), (iv)-(a)
B (i)-(a), (i)-(c), (iii)-(d), (iv)-(b)
D-(@), (i)-(c), (iiD)-(d), (iv)-(b)
C: (@D-(b), (i)-(a), (iiD)-(d), (iv)-(c)
(B-(b), (ii)-(a), (iii)-(d), (iv)-(c)
D (D)-(c), (i)-(b), (iii)-(d), (iv)-(a)
(D)-(c), (iD)-(b), (iii)-(d), (iv)-(a)
Assertion(A): Cloud Computing is facilitating the libraries for pooling the resources.

Reason(R): Resource pooling has helped the libraries to share skilled manpower in cloud.
In the above statements, choose the correct answer from the options given below.

Famml (A): Beme|l SIDLIWLL QB BIeVSEISGEHHE aleThIGmeNE CFafles 2 FaHmal

SITTEOOTLD(R): QU6THIGHE06MEF CF&ILILIGI HIT6V5HISEH &G HMenLDWITET 06flS al6Tshen S8 Hemayl 1960 LIS THSIQ & TeTer
o2 sellwsl.

GLnGev 2_6iTeT SIMlGem s G aTlen, BELY QaTHISG&LILL (B eTer allpLiLIBIGef el mha Fiflwmer LSamens CoHTHO S0 &80,

A: Both(A) and (R) are true and (R) is the correct explanation of (A)
(A) LDMHMILD (R) 6T6dTM @ Tevor(HILD &ifl LnMHMILD (R) eTETLIG! (A) - 60T Fflwimest eflem& &b &L, &LWh
B: Both (A) and (R) are true and (R) is NOT the correct explanation of (A)
(A) LDMHMILD (R) 6T6dTm @ Tevor(GIh &l LnHMILD (R) eTedTLIG! (A) - 601 Fiflwimeor eleTd: a0 {606V
C: (A)istrue but (R) is false
(A) eTetTLIGI F1f] SL,60TTeV (R) 6T60TLIGI S6UMI
D: (A)is false but (R) is true
(A) 6TET LIS H6UMI 2L,60TIT6V (R) 6T6dT LIS &1
is an Internet connected task timer.
6TEOT LIS @) 60)600T WIS SIL_60T @)60)600TE 85 L1LIL L Li6oot] GBI 6mafl (task timer) &b,&LD.

A: CLOCKOF NET
FeTd el QBL

B: CLOCKER
RETMTEHST

C: CLOCKODILLO
FReTTEHECHT HevCeuiT

D: CLOCKEOINTERNET

FETTEHRGUWIT @) 6M600TLILD

Among the following statements which is true related to cloud computing ?
UetteupLd onfl&em e g6rflev 6T Bema L SLDLIWLL 1 I Q& ITL[JLIT60T 2_600Te0L0 ?

A Itisa set of services provided by Cloud Corporation
@8 Remayl &TTLLGCTAE aULphIGLD CF e el 6fl6r Q& TELILIMEGLD
B: Itis aset of internet-based services of an application installed in your system

@&l 2_MIG6T Sevoflefluileh BlmieuliLl L e LWeTUTL (B (L6l G&Ha9.60T) @ 6metor 21g.LiLienL_uileumeor G& emeudserfleor
Q&HTGSLILUMGLD.

C: [Itis atype of Internet-based computing that provides shared computer processing resources and data to computers and other devices on demand

@) 3 @) 60600 LIS EMTHENS 1 LILIMLUIMTES C1&TeooTL 860011601 &600TE: R L6V UM & 3L GLD. @S Sevoflevflaer nmmith Lm
FITG 60T EI&HEH&HG CHMaISHCHML LR TLILIL L &60fl60f] Q&FW6TES GI6TEIGEETW D &6 &HemeTW D aULNEIGRMS!.

D: Itis a set of resources that reduces system efficiency
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@ 5! sevoflenf] QFWLIEL HMENETS G ME G LD aUeTmhIS6l6T Q&STGSLILMEGLD.
‘Which virtualization refers to a complete simulation or translation of the host hardware to some sort of virtual CPU, virtual memory or virtual disks for use by
the VM using its own unmodified OS ?
6TH& QDI GITE G 6T6dT LIS CammenL. aleTQ LIMH6fleT (W 2 (Haus LS SIH6) 3160608 Halls QLWIBI&ET CPU (Virtual
CPU) QOWIB&T Blemeamaussib &evevgl QOUIBIST el (& EHSHE 3SH60T QFMHS TMHMLUILILTS 0S-8U LweTUBSSH VM
LweTURSSIamSsH GM&EH M ?

A': Full Virtualization

(LW QUWB&EITSSELD
B : Partial Virtualization

UGS QUWBISTTSSLIN
C: Hybrid Virtualization

SHeVLIL] QLOUIBI&TTEHSLD
D : Para-Virtualization

UMIT-QUB&TT& &0
‘Which of the following is incorrectly paired ?
1. VLC-Visible Light Communication
2. LPWA-Low Power Wired Area

3. ITU-Internal Telecommunication Union
4. SRD-Short Range Devices.

LN edreumeueoreu M6V 6T&I SaUMmTe: E)60)600Ts 8 LIL(H 6Tl ?
1. VLC - Visible Light Communcation

2. LPWA-Low Power Wired Area

3. ITU-Internal Telecommunication Union

4. SRD-Short Range Devices

A: 1and4 are correct
1 LOMMILD 4 eTedTLIG Fif]
B: 3 and 4 are correct
3 IDMHMID 4 eTedTLIS! &ifl
C: 1and 2 are correct
1 LHmILD 2 etedTLIS &Fifl
D: 2 and 3 are correct
2 IDMHMILD 3 eTedTLIS! &Fif]
In RFID application, the active tag is powered by which enables larger memory or more functionality.

RFID LIWeTUIML 1960, Q&FW6eN60 2_6TeT Gnl&Q & mey QL QUISSLILGRME!, @& Uil BleneraussLd (Large memory)
VLS ST QFWHUTL ML QFWOLOSSIHMS!.

A: Sunlight
&w gl
B: Sound
660

C: Embedded battery

2 LQuUTHGasLuUL L GULLI
D: RF Signals

RF & 1866065 & 6T

Which of the following are used the building blocks of IoT ?
WetreumeuatTelmmlev 6131 IoT-uf6dT &L HILMeTS Q& MT&H SHerfley LweaTUBHSSUILGSR S

A: MEMS
MEMS
B: Smart objects
GULDMTL QIUT(HL_&H6T
C: Actuators
QUSR G6T
D: SANET
SANET

is also known as external cloud.

QeueflliLm W&V (cloud) TeTMILD S eMLP&ESLILGEMSI.

A': Private Cloud
SeoflliLl L (n&ev




B: Public Cloud
QUME LH6v

C: Hybrid Cloud
SHeulil &6

D: Community Cloud
FWPSTW PGV

100 Choose the correct cloud database from the following.

Letreu GeustTeummledpbal Frlwimer (&6 STals S6M5055 CHIHES M &&a]n.

A: MySQL
My SQL
B: ORACLE
ORACLE
C: Sybase
Sybase
D: Trackvia

Trackvia




